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Wednesday, November 13, 2024
--- On commencing at 1:35 p.m.


MR. MURRAY:  Good afternoon, everyone.  I think we will get started now.

This is the third day of the technical conference for EB-2024-0200, which is Enbridge's Leave to Construct application for approximately 17.6 kilometres of natural gas pipeline in the City of Ottawa.  My name is Lawren Murray, and I am a legal counsel at the OEB, and together with me and the OEB are OEB Staff, Zora Crnojacki, Natalya Plummer, and Michael Parkes.

Now, before we get started with questioning, I am going to hand things over to Mr. Sternberg to introduce himself and his panel.  And then I would ask after that, before we start questioning, that each of the intervenors then make an appearance on record.  So over to you, Mr. Sternberg.
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MR. STERNBERG:  Thank you, Mr. Murray.  It is Arlen Sternberg, counsel to Enbridge Gas, and accompanied sitting beside me by Patricia Squires of Enbridge in the regulatory group.  By way of introduction of the panel for today, there are four members of the panel, Daryl Bandstra of Integral Engineering, Dave Shipley of Posterity Group, and they are accompanied by Enbridge Gas witnesses Cody Wood and Jennifer Murphy, who were also members of the prior panel.

MR. MURRAY:  Thank you, Mr. Sternberg.  Mr. Elson, if you could, just enter an appearance.

MR. ELSON:  Good afternoon.  Kent Elson, external counsel for Environmental Defence.

MR. MURRAY:  Mr. Brophy?

MR. BROPHY:  Good afternoon.  My name is Michael Brophy, and I am here on behalf of Pollution Probe today.

MR. MURRAY:  Mr. Rubenstein?

MR. RUBENSTEIN:  Good afternoon.  Mark Rubenstein, counsel for the School Energy Coalition.

MR. MURRAY:  Mr. Ladanyi?

MR. LADANYI:  Good afternoon.  My name is Tom Ladanyi.  I am representing Energy Probe.  I do not expect to ask any questions.  However, if there is some new information disclosed during this session, I may have to ask a clarification question.  But I don't expect to have to do that.

MR. MURRAY:  Thank you for that.  Mr. Quinn?

MR. QUINN:  Thank you, Mr. Murray.  Dwayne Quinn on behalf of FRPO.

MR. MURRAY:  I don't believe I have missed anyone, but, if I have missed any of the intervenors, please let me know.  Having seen no one else appear, I understand there are no preliminary matters, so first on the list for questioning is Mr. Elson.  Over to you.
Examination by Mr. Elson


MR. ELSON:  Thank you.  I would like to start with some questions for Mr. Shipley, and those I will start relate to ED-21.  I don't know if you need to bring it up.  What I would like to ask you about to start is DSM and contract customers.  I understand that, in the DSM potential study, which you are obviously very familiar with, there is considerable DSM potential among contract customers.  Is that right?

MR. SHIPLEY:  That is true.

MR. ELSON:  And the current DSM plans are not capturing 100 percent of that cost-effective DSM, are they?

MR. SHIPLEY:  I don't know the details of the current Enbridge plans, but perhaps Enbridge can respond on that one if you want.

MS. MURPHY:  Jennifer Murphy from Enbridge Gas.  I am not familiar with our DSM plans.  I would say, subject to check, that sounds correct.

MR. ELSON:  Thank you.  I am pretty positive it is, so that is sufficient for these purposes, Ms. Murphy.  Now, Mr. Shipley, contract customers are excluded from your study, but that wasn't your choice; that was a direction from Enbridge Gas.  Right?

MR. SHIPLEY:  Yes.

MR. ELSON:  And I have a question:  How long would it take you to estimate the savings that could be achieved from contract customers in the area?

MR. SHIPLEY:  We would have to go back and do an estimate of what that additional scope would take.  We haven't looked into it.

MR. ELSON:  Do you have an estimate of how long it would take to do that, off the top of your head?

MR. SHIPLEY:  No.

MR. ELSON:  How would you do that?

MR. SHIPLEY:  I would ask one of my -- to provide the estimate or to do the task?

MR. ELSON:  Well, to do the task.

MR. SHIPLEY:  We would get data from Enbridge on the contract customers, and we would add that to the existing model and apply the group of measures to that set of customers.

MR. ELSON:  And the group of measures would be the group of measures in the potential study.  Right?

MR. SHIPLEY:  Yes.

MR. ELSON:  Got it.  Can you undertake or I should maybe ask Enbridge to undertake to provide us with a percentage of peak demand from contract customers?

MR. SHIPLEY:  I can't.

MR. ELSON:  You can't, no.  That is fair.  Enbridge, can you provide by way of undertaking the percentage of the peak demand in the project area that are from contract customers?

MS. MURPHY:  If you could just give us a moment, we just want to check to see if that is already on the record.

MR. ELSON:  Sure.  I will say, in ED-21, you provided the total peak demand include excluded from the study, but you also included in that number the amount that go to Gazifère.  So I am just looking for a breakdown of the peak demand that is excluded from the Posterity study, between the amount exported and the contract customers.

MS. MURPHY:  I think we could either get that number for you or point you to that in an undertaking.

MR. ELSON:  Thank you.

MR. MURRAY:  That will be undertaking JT-3.1.
UNDERTAKING JT-3.1: TO PROVIDE A BREAKDOWN OF PEAK DEMAND EXCLUDED FROM THE POSTERITY STUDY, BETWEEN THE AMOUNT EXPORTED AND THE CONTRACT CUSTOMERS.


MR. ELSON:  Mr. Shipley, could you undertake or I guess I would be asking Enbridge, you through Enbridge, to estimate the savings that could be achieved from contract customers, on a best-efforts basis?  And I say best-efforts basis because I have heard that you don't know how long it might take you, so we would be asking you to go back and determine how long that might take and then do it if it is feasible.

MR. SMALL:  So, if I were to undertake this on a best-efforts basis, then I would want to draw on the best information available about the potential for DSM and contract customers.  And the best information available is through Enbridge's direct contacts, one by one, to individual contract customers, about what the potential is in their facilities.  So, if I were to take your request and do the best job I could, I would ask Enbridge for their number and then give it to you.

MR. ELSON:  Now, Mr. Shipley, what I am asking you to do is to determine, not based on discussions with customers because we know from previous OEB decisions that DSM potential is greater than what some customers do by themselves, and instead estimate the potential based on an extrapolation of the potential study.  Is that something that you could undertake to do on a best-efforts basis?  I don't mean do something extremely complicated and perfect.  What I mean to say is:  Make your best efforts to try to undertake that work, and if you come back to us and say, no, it is actually not feasible for one reason or another, that would be fine.  And, again, we are asking you to extrapolate the potential study to indicate how much, in terms of peak demand reductions, could be received from contract customers?

MS. MURPHY:  Mr. Elson, I would like to jump in there, and then Mr. Shipley can add if he has anything else to add.  Enbridge didn't see the value in having that model.  We did, as you are familiar with the evidence in Exhibit B, Tab 3, Schedule 1, we did talk to each of the contract customers and try to determine what their ability and interest in reducing their demand would be on a peak basis.  And I think we have described in evidence that what we heard back was that in some cases they believe that it is difficult for them to convert from their current heating equipment, and that there could be some, I guess, cost prohibitive nature of doing those types of projects.

So, we understand there could be potential, but the actual -- the actual information from our customers, we believe, would be the most indicative of what we believe will happen over the next couple of years or next, you know, few decades was based on that direct outreach.  And so, Enbridge thinks that that is a better, more realistic picture of what will happen with contract demand versus modelling it.

MR. ELSON:  So, you think there is no potential incremental savings from contract demand, so much so that it is not even worth bothering to model it?

MS. MURPHY:  I am not necessarily saying there is no potential.  There may be potential, but those customers have indicated that they require the reliability that the natural gas system is providing for heat in their operational needs and, in particular, there is a number of facilities that have some critical infrastructure and they are indicating to us that they intend to keep using the natural gas system.

MR. ELSON:  I think what you are saying is:  There is so little potential for peak demand reductions in contract customers that it is not worth modelling.  Have I got that right, or have I misunderstood?

MS. MURPHY:  I am not aware of what the actual potential may be.  What I am saying is that the customers have indicated to us that they do not intend to change their demand in the next 10 or so or more years, and therefore that is why we didn't model it.

MR. ELSON:  Well, that is -- I think to me, that is a very different question.  Whether they intend to change their demand is different than whether they can be incented to do so through a geotargeted DSM program.  And what we are trying to dig into is the potential savings that could be achieved through contract customers.  I mean, there is an obvious disconnect if the potential study said that there is considerable potential to reduce gas use and you are assuming that there is a zero percent reduction in peak gas demand use from contract customers in this specific area.  I don't see how that could be -- how you could square those two facts.  Mr. Shipley, is that something you could speak to?

MR. SHIPLEY:  Not really.  Since I don't have the model of the contract customers, it is difficult for me to speculate.  And our model, obviously, is built on averages and, you know, applying measures to average customers, contract customer are very non-average.  So, it is -- it would be quite speculative for me to guess at what their potential would be.

In answer to your earlier question about whether it would be possible for us to do some kind of best-efforts estimates, let me describe what that would look like if, as you know, I don't have a model of those customers.  If you take the current peak demand of contract customers and the current peak demand of the industrial customers we do have in the model, take the potential we estimated for the industrial customers that are in the model, and just ratio that to what -- to the peak demand of the contract customers, that would be a number.  It would give a number.  It would be a very poor estimate, in my view.  But it would give you some kind of number.

MR. ELSON:  Got it.  And the reason that is a poor estimate, or a rough and ready estimate, is the industrial customers may be in different sectors than the --


MR. SHIPLEY:  Yes.

MR. ELSON:  Yes, okay.

MR. SHIPLEY:  They would be very, very different.

MR. ELSON:  I think what we would ask is for you to undertake to provide that rough and ready analysis, and also ask that Enbridge provide a breakdown of the industrial customers that are included in the main Posterity analysis, and the contract customers that are excluded, so that we can assess how rough and ready it is.  Would Enbridge agree to undertake to do that?

MS. MURPHY:  Mr. Elson, I don't think we are ready to do that.  I think, based on my earlier responses, customers have choice in their energy needs and the customers have told us directly that, although they might undertake some energy efficient projects, they don't anticipate any impact on their firm hourly demands.  So, we don't believe that modelling these customers and the potential that could be there would provide us with any value or provide the Board with any value.

MR. ELSON:  Well, if you are not willing to model anything other than what you propose to the OEB, then there is no point in having a hearing or having evidence, Ms. Murphy.  I am not asking you to agree and go ahead and carry out the geotargeted DSM.  I am asking Posterity to run the very simple rough and ready comparison that Mr. Shipley has described, and from the sounds of it would be very quick to produce.  As well as a comparison of the types of industrial customers included and excluded from the study.  So, I will ask you one more time.  I would very much appreciate that undertaking, if you won't provide it then just please provide a refusal on the record and I will move on because time is short.


MR. STERNBERG:  Mr. Elson, I will just interject for reasons you have already been given and I won't repeat them by the witnesses, and also reasons that are pointed to in response in the similar response you made in ED-21F.  Enbridge is maintaining its position that it is declining to do that additional modelling you are asking for.  So, it is a refusal.

MR. ELSON:  Okay.  Mr. Shipley, I understand that you did the modelling also for the Panhandle Project; is that true?  In southern Ontario.

MR. SHIPLEY:  Yes, our firm did that.  Yes.

MR. ELSON:  And in that case you also were directed to exclude contract customers?

MR. SHIPLEY:  I can't say.  I don't know.

MR. STERNBERG:  Mr. Elson -- I am just going to interject, Mr. Elson.  I think you are outside -- I don't think you are asking a question that is seeking --


MR. ELSON:  Well, I haven't gone there, Mr. Sternberg.  If you could just hold off on the interjections before I get to the point of my questions.  Mr. Shipley, would you be stating that there is no potential for energy efficient improvements in  contract customers in the Ottawa area and the Panhandle area?

MR. STERNBERG:  Hold on.  Mr. Elson, it is a refusal.  This is -- anyway.  It is not a proper question for the scope of this TC.  It is not a cross-examination on those other matters and other projects.  That's something you can pursue at a hearing if it has any relevance then.

MR. ELSON:  Mr. Sternberg, it is relevant -- yes.

MR. STERNBERG:  As you know, under Procedural Order 4, this TC session is limited to clarification questions pertaining to the work of Integral or Posterity in this application, and so I think you are far afield of that in the line of cross-examination you are seeking to -- that you are doing right now.

MR. ELSON:  Mr. Shipley, do you have a view on whether there is potential among contract customers in the Ottawa area to achieve energy efficiency gains?

MR. SHIPLEY:  No, I don't have view on that because we didn't look at it.

MR. ELSON:  Thank you.  Those are my questions for Mr. Shipley.  I will move on to Mr. Bandstra.

I understand that you were the one who did the modelling for the Integral report.  And I would like to ask you whether you would agree with the proposition that as customers leave the gas system, everything else equal, rates will need to increase for the remaining customers on the system to cover the cost of the system?  Is that fair to say, Mr. Bandstra?

MR. BANDSTRA:  I didn't look at that in the study.  We didn't deal with rates of customers leaving in terms of costs.

MR. ELSON:  And you also didn't look at the impact of customers leaving, on costs, and how that would impact additional customers leaving as costs go up.  Is that fair to say?

MR. BANDSTRA:  It is correct that we didn't look at costs in this study.  However, we did look at disconnection of customers, and we looked at cases that spanned the full range, from a hundred per cent disconnection to one per cent, so all disconnections scenarios could be bounded within that range of cases.

MR. ELSON:  And so would you agree with the proposition that -- I know you haven't modelled it -- but would you agree with the proposition that as customers leave the system, everything else equal, rates will need to increase for the remaining customers on the system to cover the cost of the system?

MR. BANDSTRA:  I don't have any insight on the effect of customers leaving the system and what potential impacts that would have on rates.

MR. ELSON:  Well, then, I will ask Ms. Murphy and Mr. Wood, because this is almost a silly question that I am asking, just trying to prove that the sky is blue.

But let me ask whether Enbridge would agree with the proposition that as customers leave the system, everything else equal, rates need to increase for the remaining customers on the system to cover the cost of the system.


MS. MURPHY:  Jennifer Murphy:  Mr. Elson, could you direct us to which IR you are questioning on?

MR. ELSON:  My questions relate to ED-14, and the impact of customer exits and how that was or wasn't accounted for in the study here.

MS. MURPHY:  Well, then, perhaps you could just give us a moment to look at ED-14, as it comes up.

MR. ELSON:  Can you answer my question, Mr. Murphy?

MS. MURPHY:  Yes.  Go ahead, thank you.

MR. ELSON:  Would Enbridge agree with the proposition that as customers leave the system, everything else equal, rates need to increase for the remaining customers on the system to cover the cost of the system?

MS. MURPHY:  Jennifer Murphy.  So, just looking at the IR that you brought up, Mr. Elson, ED-14, and I believe in part B you asked us if we could do some math around this.  However, we declined to do so.

And I am not aware that we have done any quantitative analysis on that, and that that is more broad than just the SLP application.  So I don't think I can answer that question.

MR. ELSON:  My questions, Ms. Murphy, I understand that you have refused to provide a response, and it wasn't due to an inability to provide a response, but that I guess your counsel believed it wasn't relevant.

The reason we are asking about the impact of customer exits is we don't think it was accounted for in the Integral model, and we want to explore how important that was.  And I am just at the very beginning of this line of questions, trying to set a framework for my further questions, which are an important avenue to explore the appropriateness of the curves used in the Integral model.

And so what I am asking for is just a baseline understanding that, as customers leave the system, everything else equal, rates need to increase for the remaining customers on the system to cover the cost of the system.

I imagine you would be able to agree with that basic proposition?

MS. MURPHY:  If you could just give me a moment?  I am just going to confer with my panelist in the room.

Mr. Elson, I am just looking at Exhibit I.4-CAFES Ottawa 22, and in part B, we were asked, I think, a similar question.  Perhaps we could just wait, until that comes up on the screen.  But we did provide a response there that you might find helpful.

MR. ELSON:  Ms. Murphy, I am just asking frankly a very, very simple baseline question, as a preface to more important questions.  And I would just really appreciate an answer, because I think it is patently obvious that, as customers leave the system, everything else equal, rates need to increase for the remaining customers on the system, to cover that cost.  Isn't that fair to say?

MS. MURPHY:  Yes.  Yes, sorry, I was just trying to --

MR. ELSON:  Okay.  Thank you.

MS. MURPHY:  It is part D that I am trying to direct you to.  So we did show there that if the demand from the SLP system was to reduce, that the rates for general service contractors would increase.

MR. ELSON:  Okay.  Thank you.

MS. MURPHY:  And there is some math around that, there.

MR. ELSON:  Okay.  And if customers are increasingly leaving the system, the pace or rate of customer exit will likely accelerate, all other things equal, because rates will be increasing, encouraging customers to move to alternatives.  Would that be fair to say?

MR. WOOD:  Enbridge Gas, Cody Wood.  I believe that is considered in the context of the cases that we looked at in the probabilistic analysis, particularly if you consider case 6, which has hundred per cent disconnection rates.  It is immediately, everybody that gets an air-source heat pump or chooses to install one disconnects from the system at the time of choosing, making that decision.

So that is the highest rate it could be, and that is the rate that it is assumed for that case, from day one.

So I don't see how you could have a higher rate in the context here.

MR. ELSON:  And Mr. Wood, I am talking more about the adoption rates, which are modelled -- logistically is the term that I believe that Mr. Bandstra uses in the report; logarithmically, I guess, would be the same idea.  But I am not quite there yet; I am going to get there.  So thank you for prefacing it.

But just to get an idea that -- well, let me pass these numbers by you.  In a simplified scenario, if you had one rate class, if customers drop by 80 per cent, then the remaining customers would find their distribution rates increasing, fivefold, everything else equal, on average.

Is that fair to say?

MS. MURPHY:  Enbridge Gas, Jennifer Murphy.  I think the scenario you just put forward is similar to the response in part D.  I think you have just said 80 per cent, and we looked at 76 per cent as per the question we were asked.

And that, in the response here, I don't think we are showing a fivefold increase.  What it is saying is that the unit rate would increase by 4 per cent, 4.44 per cent.

MR. ELSON:  Ms. Murphy, what I am asking about is the impact of distribution rates, everything equal, if customers exit the system.  And if you have 80 per cent of the customers exiting the system, you still have 100 per cent of the costs.

Where are those costs falling?  And I am assuming it is, give or take, a fivefold increase, because you have 80 per cent less customers to be defraying your costs over, just in a really simplified analysis. It is certainly not 4 percent.

MS. MURPHY:  I don't think I can answer that.  I think there would be a number of factors.  If you are saying 80 percent of the customers, are those all residential customers, but those remaining on the system are industrial, the high volume users?  Like, I don't think we can assume that 80 percent of customers is 80 percent of the volume, and I think there are other factors we would have to look at to determine if it would be five-fold increase.  I can't answer that.

MR. ELSON:  That is why I have asked a simplified scenario, just to understand the connection, a simplified scenario of:  One rate class; your customers drop by 80 percent; the remaining customers, give or take, would have a five-fold increase in distribution rate.  Is that fair to say?  Is that something you want to take away to folks at DMO with rates?

MR. STERNBERG:  Mr. Elson, we can consider that, but can you assist us with how you say that scenario, which doesn't sound like it reflects facts, but how that scenario is relevant and how it pertains to the work of Integral?

MR. ELSON:  I would like to, Mr. Sternberg.  I am just not there yet, and, if I just keep asking my questions, you know, all will become clear.  So you can hold off on providing the undertaking or provide the undertaking now, and I will move on and get there.

MR. STERNBERG:  Well, we will undertake to consider the request and take it back, and we can hear what other questions you have.  If we are able to and prepared to provide the answer, we will, and, if not, we will advise.

MR. ELSON:  Thank you.

MR. RUBENSTEIN:  Mr. Elson, can I just ask a clarification question with this response, just so I understand what Enbridge has proposed?  Am I correct that the calculation at a high level that you are doing in this is, if by 2050, 76 percent of the customers served by the pipeline are gone, you are showing an increase -- I think it was the 4 percent -- across all the entire Enbridge system.  Correct?

And that is the disconnect.  Am I -- you are not, it is not, you are not showing that, if 76 percent of customers on your entire system are gone by 2050, the increase is -- I think you said 4.4 percent.  It is just isolated, all else being equal and all you are changing is those serviced in the Ottawa area by that pipeline?

MS. MURPHY:  I think you have captured that correctly.  In the question we were asked in the scenario outlined, where gas consumption drops by 76 percent by 2050, we took that to mean that that was in relation to the specific pipelines.  So 76 percent reduction in volume -- consumption, I should say, on the St. Laurent system.  And so, if there was that degree of reduction in consumption on this system, the rate increase for the remaining customers would be an increase of 4.44 percent.

MR. ELSON:  Well, just to be clear, that is not what I asked in ED-14 and not what we are asking in our undertaking.  It would be if there is that total decline in customers, you know, across the board, just as a simplified scenario, not saying that that scenario is going to come to pass but to get an idea of the interplay between rates and customer numbers.  So I am going to move on and --


MR. MURRAY:  Mr. Elson, before we do that, let's get the number.

MR. ELSON:  Yes, we didn't get an undertaking number.  Yes, please.

MR. MURRAY:  That will be JT-3.2.
UNDERTAKING JT-3.2:  TO DESCRIBE THE RATE IMPACT OF A DECLINE IN CUSTOMERS.

MR. ELSON:  Thank you.

MS. MURPHY:  Can I clarify, though, Mr. Elson?  Just to clarify that undertaking, you are saying 80 percent of customers across our system leaving, not focused on the St. Laurent pipeline?

MR. ELSON:  Yes.  Like let's say that there is a mandate that customers have to replace furnaces with heat pumps, a provincial or federal mandate, whatever, or the cost effectiveness of heat pumps springs even more in the favour of heat pumps and what that impact will be on rates.

MS. MURPHY:  Okay.  I think we will have to take that away and look at that and if we can do that for the whole system versus in the context of the project, itself.

MR. ELSON:  Yes, it is just a simplified look at the connection between those figures.  The point I am trying to make is, if you have your distribution rates increasing threefold, fourfold, fivefold, that is going to lead to quickening customer exits because the cost of being on gas is increasing a lot.  Is that fair to say?

MR. WOOD:  Enbridge Gas, Cody Wood.  Just to be clear, you are saying customer exits and, by that, you mean customer disconnections from the gas system?

MR. ELSON:  Well, both adoption of heat pumps and disconnecting from the gas system.

MR. WOOD:  Because those are two distinct things, and they are very different.

MR. ELSON:  True.

MR. WOOD:  So adoption of a heat pump does not indicate that a customer will exit the gas system.  Right?  So it is an independent variable from disconnection.  So that is why I want to clarify again your question.  Is it specific, when you say "exit," to the disconnection of a customer from the gas system?

MR. ELSON:  Let me say it this way:  There would be a feedback mechanism where the more customers that leave the system will lead to increased rates and everything else equal would lead to increasing heat pump adoption and increasing disconnect rates.

And the logic is that people will have a greater incentive to adopt a heat pump and to disconnect as the cost of distribution rates go up and up, and I should say if the cost of distribution rates go up and up.

MS. MURPHY:  Could we just take a moment to confer in the room, please?

MR. ELSON:  Mm-hmm.

MS. MURPHY:  Mr. Elson, I think this is tied into what you have already asked me, and I have already been responding.  I don't think we can really respond to how customers would react if, in general, there started to be a mass exit and disconnections from the system and what the impact would be on rates.  We have already said that that is difficult for me to answer on the spot.  We have the undertaking to see if we can help you there.

But then this piece of the question -- well, if the rates went up, then what would customers do -- I don't think I am comfortable responding in the theoretical on that question.  There could be -- I don't know.  There could be mechanisms, rates moving, or different government programs that assist customers.  I think it is just too speculative and really not easy to answer without having done a study and looking at that, which I think was maybe more appropriate in rebasing versus in the St. Laurent pipeline proceeding as specific to this pipeline, not what happens if all of our customers get off the system in a hurry.

MR. ELSON:  But --


MS. MURPHY:  I don't think I can answer your question.

MR. ELSON:  I have been asking the questions very carefully, to avoid the issue that you are describing, and I have been asking:  All other things equal, as customers leave the system and rates rise up, would that likely increase heat pump adoption rate and disconnect rate?

In other words, if rates are increasing by large numbers, is that likely to mean that customers are more likely to leave the system?  I mean I think it is obvious, but, if you are not willing to agree to that, then that is fine, and I will move on.

MS. MURPHY:  But I think that also has a number of assumptions you would have to make:  Is there capacity on the electricity system?  Are there enough HVAC installers?  Are there number heat pumps coming into the province to keep up with the rate that you are suggesting?  There are so many different factors in that scenario, I can't speculate on how that would impact the rate of customers disconnecting.

MR. ELSON:  Okay.

MS. MURPHY:  What we are seeing today is not what you are describing, so, bringing it back to the reality of today, I just don't have the information to speculate on what you are asking.

MR. ELSON:  Well, then I think I can still ask the rest of my questions to Mr. Bandstra based on a premise.  So, Mr. Bandstra, assume for the moment that there is a feedback mechanism and that the more customers that leave the system the higher rates get and that that increases the rate of heat pump adoption and increases the rate of disconnection.  And I take it that that would mean that your adoption curve, for example, wouldn't be logistic, instead it would be exponential, or at least have a function where the adoption and disconnection rate is increasing, because it happens faster and faster as customers exit and prices go up.  Is that how you would model that?  I am not asking you to agree that there is that feedback mechanism, but is that how you would model it?

MR. BANDSTRA:  The curve -- the scenario you are describing where there is a change in rate of adoption is already considered by the logistic curve.  It goes from its current rate and the slope, the pace at which the rate of change of adoption goes up dramatically in this logistic curve.  There are some graphics of that in the Exhibit B, Tab 3, Schedule 1, Attachment 1, that would be the slide summary.  And so, based on my understanding of your question at this time, that is already considered that this would -- the rate of change would go up steeply and that would be representative of a scenario you are describing.

MR. ELSON:  Well, let's turn to page 23 of your slide deck, if that could be pulled up on the screen.  Which is -- well, there it is coming up.  So, now I understand with a logarithmic curve it increases initially but then it slows down, and there is a long tail.  And now, let's just say that under 10 percent, so whether you've lost 90 percent of your customers, by my rough and ready calculations, your distribution charges have increased tenfold, all other things equal.  And yet you are seeing a very slow drop off of customers in comparison to what is in the middle.  So, this doesn't really model that scenario where you have the customer -- the adoption rate and the disconnection rate increasing exponentially; fair?  It doesn't model that feedback mechanism?

MR. BANDSTRA:  I don't agree with that statement that this doesn't consider that changing rate over time.  What you are looking -- I think we are starting to confuse some different pieces.  So, what you looking at is the end result which is the proportion of customers on the system.  The customer leaves the system through a two-step process.  First, they would adopt a heat pump.  That piece is modelled using this logistic adoption curve which goes from its current rate, which starts in this model at 8 percent, and goes up steeply as described in the assumptions earlier.  Then, if we are just going to going to look at case 6, which I think you are referencing at this point, it already assumes 100 percent disconnection, so there is no additional factors at that point that could drive disconnection any higher than case 6.

MR. ELSON:  In a logarithmic growth curve the slope grows sharply, and then over time the slope declined over time until it becomes flat; right?

MR. BANDSTRA:  In a logistic curve, yes, the rate the slope of that curve as shown in some of the previous slides, I don't think we need to flip to them here, it does go up.  And then it starts to decrease until it reaches 100 percent.

MR. ELSON:  And another kind of growth curve that you see in some scenarios is an exponential growth curve; right?

MR. BANDSTRA:  I'm not sure exactly which shape of curve you describing with exponential.  Is there a formula or something you could point me to so that we are clear?  Because perhaps we are referring to different equations.

MR. ELSON:  Where the rate of change increases throughout until it hits 100.

MR. BANDSTRA:  So, you are describing a curve where the rate of change -- the adoption just goes up?  The slope doesn't decrease at any point; is that correct?

MR. ELSON:  Yes.  Because over time the incentive to adopt heat pumps is increasing as customers exit and as costs increase -- distribution costs increase on a per-customer basis.

MR. BANDSTRA:  Okay.  I am familiar now with what you are referring -- the concept you are referring to by exponential.  What is the question now, at this point?

MR. ELSON:  Could you undertake to redo scenarios 5, 6, and 7, where the adoption curves are exponential?

MR. WOOD:  Sorry, I would just like a moment to confer with Mr. Bandstra, please.  Sorry, I think we will need a breakout room for that.  Apologies for not mentioning that.

MR. MURRAY:  Sorry, I am opening that room right now.

MR. SHIPLEY:  For the information of the panel --


MR. WOOD:  Sir, apologies.  We are not in the breakout room with our --


MR. SHIPLEY:  Mr. Murray, I was placed in the breakout room with Mr. Bandstra.  And he actually wants to confer with Enbridge, not with me.

MR. MURRAY:  Okay.  I think Enbridge is now in there.  I didn't know if you needed to be in there, too.

MR. SHIPLEY:  No, thank you.

MR. BANDSTRA:  Okay.  I think we are back here.

So, the question -- could you restate the question, if you don't mind, Mr. Elson?  Thank you.

MR. ELSON:  Could you reproduce scenarios 5, 6, and 7, with everything the same except that the adoption curves are exponential instead of logistic?

MR. BANDSTRA:  Understood.  While it is mathematically possible to use any type of a different curve, the logistic curve, this S-shaped curve, is the most common curve that represents the adoption of technology.  I think here it is the most representative of how that curve would go, and it doesn't add any value in my mind to change the shape of this-curve slightly.  Ultimately, the findings of this study are that while adoption can follow aggressive curve, what really affects the timeline is disconnection.  And any change to the adoption methodology wouldn't have an impact on this independent piece of disconnection.

MR. ELSON:  Now, I am going to get to the disconnection piece shortly, and technology adoption curves may be different if you have a kind of feedback loop, like I have proposed, and I am trying to see what that would look like in the model.  You can provide as many caveats as you wish and say, no, it is 100 percent going to be a logistic curve not an exponential curve.  But I will ask you one more time:  Would you agree to redo analysis 5, 6, and 7, with an exponential curve instead of a logistic curve for the adoption rates?

MR. STERNBERG:  Mr. Elson, I am going to jump in.  You have just asked, based on the answer you have been given, it sounds like the expert has indicated there would be no utility in his mind to doing that, and so we are not going to agree to ask Integral to do that.  Apart from the additional effort that may be required.  So it is a refusal.

MR. ELSON:  I am going to move on to the probability of disconnecting.

And so now I understand that this model for case 1 assumes throughout the period that there is a one percent probability of disconnect; I am just taking case 1 as an example.

So does that mean that, for the 99 percent of customers that don't disconnect, they stay on the system forever?  Or they stay on the system until either their furnace or their air conditioner breaks down?

MR. BANDSTRA:  I can respond to that.  In the case where any -- and which applies to any of these cases, where a customer adopts a heat pump -- then there is the potential for disconnection after that point.

At the moment they first adopt a heat pump, there is an initial chance that they may be disconnecting the model, one percent, you know, 60 percent, a hundred percent.  Or it may follow a curve, as cases 7 and higher numbers do.

It is not a one-time thing though; that same chance to disconnect comes up again with the change-out of the heat pump system in subsequent follow-ups.

So there is a continued chance that somebody could disconnect over time, even if they -- after they adopt a heat pump and choose not to disconnect, initially.

MR. ELSON:  I didn't --


MR. BANDSTRA:  And so Mr. -- go ahead, sorry.

MR. ELSON:  The way the model works is either the customers disconnect right away when they replace their furnace or their air conditioner, or they don't do it until the first breakdown of their next piece of equipment.

Is that fair to say?

MR. BANDSTRA:  It is fair to say that the next piece and any subsequent ones that can -- there is a repeating cycle.  So customers can have a chance to disconnect multiple times throughout the timeline.

MR. ELSON:  Got it.  And so you do not account for the customer that would install a heat pump in Year One, and then disconnect in Year 3 once they have finally gotten rid of their gas stove, for example?

MR. BANDSTRA:  Well, that is possible.  I have got to say, up to the extreme, that would be less aggressive than the hundred percent disconnection scenario.

MR. WOOD:  Enbridge Gas.  I was just going to add to that, that the scenario you have described, Mr. Elson, where there is a delay in the disconnection would sort of fill in the boundaries that we see here on the screen between case 6, which has a hundred percent disconnection, and between case 1, which has one percent probability of disconnection.

MR. ELSON:  Well, maybe it would be helpful if you could provide an undertaking to re-crunch the numbers for cases 1 to 6, with the disconnects occurring within five years of adoption on that basis.

Is that something you could undertake to do?

MR. WOOD:  Cody Wood from Enbridge.  Mr. Elson, I believe in Exhibit I.2.ED 12, you asked the same question.  And --


MR. ELSON:  But I don't think I did; I think it was a little bit different.  But --


MR. WOOD:  I think the premise around the delayed disconnection was the same.

MR. ELSON:  Yes.

MR. WOOD:  And in that context as I just described, delaying the disconnection for a period of time into the future really just fills in the space between a scenario where you have a hundred percent disconnection and one percent disconnection.

So perhaps we could pull up the exhibit again?  That is I.2-ED-12.  It leads to --


MR. ELSON:  You know what, Mr. Wood?  I have the exhibit.  I can just take that as refusal and move on, for the sake of time.  You don't need to repeat what is in the interrogatory response.

Counsel, if you are going to add something, let me know, but if not, I will move on.

MR. WOOD:  I think we can move on.

MR. ELSON:  Mr. Bandstra, your furnace and your AC assumptions are that the peak life distribution is 17.5 years.  Is that right?  Have I understood?  And maybe we should turn to page 19 of your spreadsheet, or sorry, of your presentation, so you can see that number.

So that means that it is most likely that a furnace or an air conditioner is going to break down when it is 17.5 years old.  Have I understood that correctly?

MR. BANDSTRA:  Yes, that is correct.  The parameters for the distribution that was used to model the furnace and AC life distribution ranges from three to 20 years.  The peak value is 17.5.

Just a little note that, when you utilize this lifespan distribution, it results in an average age of furnaces in the network of eight years, and that is shown in a previous slide, and that was matched to Enbridge's internal data that they were able to provide, to calibrate and validate that, this assumption here, or this set of parameters.

MR. ELSON:  And the probability of adoption, which starts at 8 percent, that applies equally, whether it is a furnace or an air conditioner that is dying, reaching the end of its life?

MR. BANDSTRA:  This probability of adoption of 8 percent is upon replacement of a furnace.  If your air conditioner dies, and we can perhaps go to a previous slide to show the approach for that.  It is also noted here on this -- the next column.  If we go back to slide 12, we can talk about air conditioners.

So just to provide a bit of context here, if we had chosen just to model furnaces, we would have a set of results.  And what we decided to add in, this consideration for air conditioners, which only accelerates the timeline or makes it more aggressive, so it shortens the timeline for those curves -- so that, just to note, that this only have as an effect in one direction on the results, which is to shorten the timeline.

But yes, to get into the specific case, if your air conditioner dies, the concept here is that you might choose to replace your furnace as part of a whole heating system replacement, air conditioner and furnace combined.

The likelihood you would do that is reflected here on the screen, by considering how old that furnace is.

MR. ELSON:  Got it.  So on average, your air conditioner goes out, you know, at year 17 and a half.  And if your furnace is less than 10 years, then you assume that the customer does not do a full heating system swap-out.  And the probability of that swap-out increases between 10 and 20 years on a linear basis.  Is that fair?

MR. BANDSTRA:  I would like to correct one thing you said there:  You said, on average, 17.5 years.  The average age would be eight years.  I know that is not to the main point of what you are saying but, just for the record, I want to point out the correct terms here, average being -- the average age of the furnace life is eight years.

Back to your question, though:  Yes, if an air conditioner dies and the furnace is less than 10 years in the model, the customer wouldn't choose to swap out the furnace, which has not reached its end of life, on the basis of some information from Enbridge.  So feel free, if Enbridge wants to comment on some of the basis for these assumptions that we developed.

MR. ELSON:  The average that you said is of eight years, that is the average of the existing furnaces, not the average year that they are retired, is it?

MR. BANDSTRA:  The average -- that is correct.  The average age of existing furnaces is eight years.

MR. ELSON:  Got it.  And what is the average age of furnaces that are retired?

MR. BANDSTRA:  I don't have that figure here in this set of slides.  So I would have to look.

MR. ELSON:  Could you undertake to provide the average age of furnace replacement and air conditioner replacement?

MR. STERNBERG:  Mr. Elson, I am not sure what is involved in being able to do that.  So, for today, we will take that back and consider it.  And if we are in a position to provide that response, we will.  And if for some reason we aren't, we will advise.

MR. ELSON:  Best efforts is fine.  Thank you.

MR. MURRAY:  That will be undertaking JT-3.3.
UNDERTAKING JT-3.3:  TO UNDERTAKE TO PROVIDE THE AVERAGE AGE OF FURNACE REPLACEMENT AND AIR CONDITIONER REPLACEMENT

MR. ELSON:  Mr. Bandstra -- well, maybe I will ask the question to Enbridge and maybe to Mr. Sternberg.  Is Mr. Bandstra put forward as an expert and, if yes, an expert in what?  You can answer that by way of undertaking if you wish.

MR. STERNBERG:  We can confirm by way of undertaking.  The short answer is yes, but we will provide the details by way of undertaking response.

MR. MURRAY:  That will be undertaking JT-3.4.
UNDERTAKING JT-3.4: (A) TO CONFIRM WHETHER MR. BANDSTRA IS PUT FORWARD AS AN EXPERT, AND IF SO, TO DESCRIBE THE EXPERTISE; (B) TO PROVIDE MR. BANDSTRA'S LATEST CV; (C) REGARDING THE REQUEST FOR A DESCRIPTION OF THE WORK ENBRIDGE RELIES ON FOR THE EXPERTISE THAT ENBRIDGE SAYS HE HAS, TO CINSDER AND RESPOND IF POSSIBLE, AND IF NOT, TO SO INDICATE.


MR. ELSON:  Mr. Bandstra, are you an expert in predicting the rate of change of disconnection from the gas system?

MR. BANDSTRA:  I am an expert in developing probabilistic models, which can be used to inform decisionmakers when thinking about aspects of adoption and disconnection.  So the model provides insight for decision-making on what parameters matter, how much, and how those timelines may unfold in different scenarios.

MR. ELSON:  You are a numbers guy; you are a modelling guy, but are you also an expert in deciding what the rate of change is going to be or which scenario is more likely than another?

MR. BANDSTRA:  I do have insight on different aspects of how things can be modelled in appropriate ways, comparing assumptions to data to validate them, comparing different methodologies to what is commonly used in industry, and I can provide guidance on aspects during this model development that are where my expertise is relevant.

MR. ELSON:  In the undertaking that you just provided, Mr. Sternberg, if you could, also provide a copy of Mr. Bandstra's latest CV and a description of the work that you rely on for the expertise that you are say that he has.

MR. STERNBERG:  The first part of what you are asking is a CV.  If that hasn't already been provided, yes, we will provide that.

The second part of your request, we will consider that, and, if we are prepared to answer the second part of your request, we will and, if not, we will indicate that.

MR. ELSON:  Mr. Bandstra --


MR. MURRAY:  Sorry.  Just for clarity, that is all still part of JT-3.4.

MR. ELSON:  Thank you.  Mr. Bandstra, do you believe the probability of disconnect is likely to be constant, linear, logistic, or exponential?

MR. BANDSTRA:  In the study, we didn't try to assign a likelihood for the different cases.  These scenarios are presented to show a set of possible ways in which things could unfold.  With a long-term prediction, we can't say for certain which scenario is the one that is the most likely, but we certainly know some things, that the disconnect rate has to fall between 100 percent and 1 percent, and it may rise or change through that time.  Time will tell, but, ultimately, a set of varied assumptions that try different approaches illustrate a consistent theme that disconnection is the primary factor driving the long tail of the distribution.

You can see that in the results shown on the slides with the cases showing the disconnection curve over time, the proportion of current customers over time.

MR. ELSON:  Mr. Bandstra, for the adoption curve, is it most likely to be constant, linear, logistic, or exponential?

MR. BANDSTRA:  The adoption curve, based on the adoption of many technologies over time, is most likely to follow this logistic curve.

MR. ELSON:  Do you think it is impossible that it would be end up being constant, linear, or exponential?

MR. BANDSTRA:  I can't assign "impossible" to any future scenario, so I can't assess the likelihood.  But nothing is impossible until it has happened, so I don't see the value in trying to assign whether something is impossible or not here.

MR. ELSON:  I guess I will need to ask a follow-up question.

MR. WOOD:  All right.  Mr. Elson, it is Mr. Wood.  I just wanted to jump in there.  I think it is also important to recognize that, these cases and these scenarios that we have looked at, we grounded them in reality so what we understand today and not in sort of the speculative, as potentially you are suggesting.  So, with respect to the technology adoption curve being logistic, as Mr. Bandstra described, technology tends to follow a logistic curve through adoption.  And I think we have explained that quite well in a number of the IR responses, and so we have chosen that to reflect the reality that, upon heating equipment end of life and replacement cycle, it is likely that a logistic curve is how technology would be adopted.  We see that across the board in many, many other technologies, so I don't think it is unrealistic to apply that here.

MR. ELSON:  Well, I think what I am noting is a distinction between modelling potential outcomes and modelling only the outcomes that you think are more likely and accounting for logistic curves and not accounting for exponential curves, even though I think we have established that there is at least some possibility that there will be a feedback mechanism whereby, the more customers that adopt heat pumps, the higher that rates go up and the more customers that adopt heat pumps and so on and so forth.

And so I am trying to determine what Mr. Bandstra, you know, what expertise he has to say the adoption curve is certainly going to be logistic or 90 percent going to be logistic or otherwise because there has been no modelling of any other adoption curves other than logistic.

MR. WOOD:  Again, that is because the logistic curve reflects the reality of how technology is adopted.  Not to get into an argument or anything, but I don't think that sufficient basis for why an exponential curve would be considered for technology adoption has really been established.  I think, again, it is speculative; it is hypothetical; it doesn't necessarily reflect reality.

I can think of other scenarios where an exponential curve does make sense.  For example, bacterial cell growth and things like that, that certainly follows an exponential curve.

But, from a technology adoption standpoint, it is really rooted in logistic adoption.  You have early adopters; you have people becoming aware of technology, saying:  Hey, that looks really cool and provides me benefit, so I'm going to adopt that.  It becomes mainstream.  Everybody starts to pick it up.  And then you have got people at the end who are slow to kind of pick up that technology.

That is exactly what that logistic curve shows, and you can think of that with the rise of telecommunications, the rise of computers, the rise of the iPhone, our ability to have this conversation right now.  All of this follows a logistic curve.

MR. ELSON:  And now you are comparing this, for example, to the adoption of a telephone, and I would put it to you, Mr. Wood, that there is a difference here because we are not only talking about the adoption of a different technology but that, as time goes on, the price of the old technology is going up, up, up, possibly increasing as much as tenfold by the time that you have lost 90 percent of your customers.  Isn't that a different kind of scenario than just adopting a -- buying a phone or buying a fridge or buying a washing machine?

MR. WOOD:  I think, if you are going to phrase it that way, perhaps you could see the point that you are making.  But I think, if we take the telephone example, the price of a telephone has done nothing but increase over time and yet it still follows this logistic adoption curve, regardless of what the incumbent was.  So I think, again, with respect to technology --


MR. ELSON:  But we are talking about incumbent's price going up and up and up.  Right?  That's different.

MR. WOOD:  So you are talking about the incumbent price?

MR. ELSON:  Gas system.

MR. WOOD:  So, in the context of -- I think I have gotten lost here in what we are doing, and I wasn't trying to start an argument, so I do apologize for that.  But I think, again, with respect to reality, technology adoption tends to follow a logistic curve, and you can see that across many different technologies.

MR. ELSON:  Okay.  Well, I have one more question.  Back to Mr. Shipley, I apologize.  I thought I was done with you.  It is just a quick question for ED-17 -- I realize I am running out of time here -- which is to ask if you can provide the value of the gas savings in a dollar figure, not only as a cubic metre.  You can make caveats and assumptions as necessary.

MR. SHIPLEY:  The value to whom?

MR. ELSON:  You can provide the societal value if that is easier because you are basing this on the potential report, or a customer value based on the existing price of gas.

MR. SHIPLEY:  So you just want me to multiply that number by an avoided cost?

MR. ELSON:  Yes, and tell us how you have done it.  You could do both if you feel like there is a distinction between the customer-facing cost and the societal cost.  Is that something you can do, Mr. Shipley?

MR. SHIPLEY:  I think I could do that.

MR. ELSON:  Thank you.

MR. MURRAY:  That will be undertaking JT-3.5.
UNDERTAKING JT-3.5: WITH REFERENCE TO ED-17, TO PROVIDE THE VALUE OF THE GAS SAVINGS AS A DOLLAR FIGURE, NOT ONLY AS A CUBIC METRE, MAKING CAVEATS AND ASSUMPTIONS AS NECESSARY; EITHER A SOCIETAL VALUE OR A CUSTOMER-BASED VALUE, BASED ON THE EXISTING PRICE OF GAS, OR BOTH IF THERE IS A DISTINCTION BETWEEN THEM; TO DESCRIBE THE CALCULATION USED.


MR. SHIPLEY:  Thank you.

MR. ELSON:  My time is up.  Thank you, panel.

MR. MURRAY:  At this point I would check in on the court reporter to see if you needed a break.  Otherwise I would propose that we sort of try and push through the last two questioners.  I think it's less than half an hour.  But I just want to see if the court reporter was up for another half an hour or needed a break.  So, let's just push on.  Mr. Brophy?

MR. BROPHY:  Great, thank you.  So, again, panels, my name is Mr. Brophy.  And I am asking questions on behalf of Pollution Probe today.  Good afternoon.  I will start with Posterity and then move over to Integral second if -- just to let you know where I am heading.

So, for the Posterity questions, I might refer to Pollution Probe 53, and then some of that was also referred to Environmental Defence 21.  But you may not actually need it.  But if you need me to slow down or stop then just let me know, Mr. Shipley, no problem.

MR. SHIPLEY:  I will wait for it to come up.  Okay.

MR. BROPHY:  Sure.  Okay.  So, Pollution Probe 53 asked about the work Posterity did on the St. Laurent project, and I don't know if you listened to the day 1 and day 2, but Enbridge confirmed that, really, it is just the Posterity two-page report that was filed and then the modelling files I think that you provided in response to ED-21.  Is that -- that is right; that is all that you did?

MR. SHIPLEY:  That is right.

MR. BROPHY:  Okay, thanks.  I just wanted to make sure I didn't miss anything.  And so, did Posterity run a scenario that uses a natural gas declines in the City of Ottawa related to the City of Ottawa's Energy Evolution plan or did you just, you know, assume that wasn't going to happen?

MR. SHIPLEY:  We did not run that scenario.

MR. BROPHY:  Okay.  And why not?  Just because the scope of what you were asked by Enbridge to do was the scope that you did or --


MR. SHIPLEY:  Yes.

MR. BROPHY:  Okay.

MR. SHIPLEY:  We did the scope we were paid for, yes.

MR. BROPHY:  Okay.  Thank you for that.  And you live in the City of Ottawa; right?

MR. SHIPLEY:  That is true.

MR. BROPHY:  Okay.  And I am assuming you are familiar with Energy Evolution plan?

MR. SHIPLEY:  Not in detail, but I am aware that it is out there, yes.

MR. BROPHY:  Yes.  It was released a few years ago and I don't think that it has changed since it was released.  It is aligned with net zero by 2050, which I am assuming you are aware of that?

MR. SHIPLEY:  I hadn't looked at it to that extent, but I will take your word for it.

MR. BROPHY:  Okay.  Thank you.  So, okay, under that scenario and, again, you haven't modelled it but this, I think, you will know the answer to this.  If the City of Ottawa Energy Evolution plan has natural gas going to zero prior to 2050, if you went away and modelled that how would that effect your model?

MR. SHIPLEY:  The natural gas consumption would go down in our model.

MR. BROPHY:  And then the demand?

MR. SHIPLEY:  Yes.

MR. BROPHY:  And use of the pipeline?  And I am assuming that's the portion related to gas use in the City of Ottawa, but I think a portion of the pipeline is also exporting outside of Ontario to Québec I think; right?  Do you know those details or is that beyond?

MR. SHIPLEY:  I have looked at the application enough to know that that's true.

MR. BROPHY:  Okay.  Super.  And what information was included in your analysis related to the peak demand from Québec?

MR. SHIPLEY:  We don't have a model of Québec, so we didn't model that at all.

MR. BROPHY:  Okay.  So, then you just used -- you just used  demand in the pipeline, not allocating it to Ottawa or Québec?  Is that -- and then did your modelling off of that; is that accurate?

MR. SHIPLEY:  No, our model is a demand-side model.  So, it is based on the consumption of the customers that are included in the model.

MR. BROPHY:  Okay.  But the portion of the customers from Québec weren't included, I think is what you said.

MR. SHIPLEY:  That is true because we do not have a model of Québec.

MR. BROPHY:  Okay.  Thank you.  And just on that -- well, I don't know if you would be able to answer this, I am assuming that you had that info in your model but it may be something --


MR. SHIPLEY:  What info?

MR. BROPHY:  It may be something that Enbridge may have to take away.  But in the previous analysis and modelling for the St. Laurent pipeline the peak demand day was split about half between City of Ottawa and half between Québec on a peak day.  And I was interested to see how your model varied, but it sounds like you didn't do that modelling.  So, is it more appropriate to ask Enbridge then if that split has changed from the original split on a peak day between Ottawa and Québec?

MR. SHIPLEY:  Yes, it wouldn't be something I would knew.

MR. BROPHY:  Okay.  So, is that something that Enbridge would be able to provide?  I think it was 49 percent was peak day demand from Québec previously, and 51 from Ottawa.  Can you confirm that that's still accurate or, if not correct, provide the updated information?

MS. MURPHY:  Mr. Brophy, it is Jennifer Murphy.  Just to clarify, you are asking what the split is between peak day demand between Ottawa and Gazifère?

MR. BROPHY:  Off the St. Laurent.

MS. MURPHY:  Off the St. Laurent system?

MR. BROPHY:  Yes.

MS. MURPHY:  I am just going to confer with my panelist in the room here just to see if we think that is in evidence.  If you could give me a moment.

MR. BROPHY:  Sure, thank you.

MS. MURPHY:  Mr. Brophy, there were some volumes provided in Exhibit I.1-CAFES Ottawa-2.  I think those are provided by volume, not percentage, so if you would like us to calculate a percentage I think we could undertake to do that.

MR. BROPHY:  Okay.  That would be great.  And that is a peak -- because I think you designed the pipelines off of peak day demand; right?  So...

MS. MURPHY:  That is correct.

MR. BROPHY:  Super.  That would be great.

MR. MURRAY:  That will be undertaking JT3.6.
UNDERTAKING JT-3.6: TO CONFIRM THE PEAK DAY SPLIT BETWEEN THE CITY OF OTTAWA AND QUEBEC AS A PERCENTAGE, RATHER THAN BY VOLUME.


MR. BROPHY:  Okay, thank you.  Just one last question for you, Mr. Shipley.  So, in your work or, I guess, you are speaking on behalf of Posterity Group.  Have you had any direct interactions with the OEB's IRP technical working group on your IRP analysis, or is that just done directly between you and Enbridge?

MR. SHIPLEY:  We have participated in one conference with them, I believe.

MR. BROPHY:  Okay.  And was that related to this project or something different?

MR. SHIPLEY:  It was different.

MR. BROPHY:  Oh, it was different.  Okay.  So, nothing on this project?

MR. SHIPLEY:  No, I don't believe so.  Enbridge folks that is correct, I think.

MS. MURPHY:  Jennifer Murphy, I wouldn't know that that.  I would have to take that back.

MR. BROPHY:  So, you know, Mr. Shipley believes that is correct.  We can take it as that and Enbridge can update the record if you think -- if you find something, or if you want to take an undertaking you are fine to do that.  Whatever is more efficient.

MS. MURPHY:  I think we could say subject to check, I believe Mr. Shipley is likely correct.  And if we find out otherwise we can let you know.

MR. BROPHY:  Okay.  Terrific.  Thank you for that.  Okay.  So, that is it for Mr. Shipley.  I will just move over then to Integral.  And most of the questions are related to Pollution Probe 44.  And I will talk about -- there is three attachments in there, so I will orient you on that.  And I am happy to stop or slow down if you need.  Just let me know, Mr. Bandstra.

MR. BANDSTRA:  Okay.

MR. BROPHY:  Okay.  So, in Pollution Probe 44, the response -- so, as I mentioned there are three attachments.  So, Attachment 1 is a contract between Integral and Enbridge, and it is for -- in relation to your proposal for machine-learning based excavation rate model development.  And that was page 15 of 26 in Attachment 1.  Pollution Probe 44 is your proposal that became the section of the agreement that defines that work.  Does that sound right, so far?

MR. BANDSTRA:  The initial contract that Integral had with Enbridge unrelated to this work was for this project that you see on the screen.

MR. BROPHY:  Yes, okay.  Terrific.  And then attachment 2 is a schedule of ad hoc Integral staff rates, without any scope.  And then attachment 3 is just an extension of attachment 2 until, I think it is the end of 2024.  Is that accurate?

MR. BANDSTRA:  That is correct.  Schedule B is an extension for ad hoc services, and schedule C, it is an extension of the timeline.

MR. BROPHY:  Okay.  Terrific.  Thank you.  So what I am trying to figure out, if none of the proposals you have developed or the agreements relate to the probabilistic analysis that is included in the filing from you, how did that report come about?  There doesn't seem to be any request or proposal or direction.  I am a little puzzled.  Can you help me?

MR. BANDSTRA:  Sure.  Yes, I can give you an overview of the engagement and execution of this project, if that is what you are asking.

MR. BROPHY:  Yes, please.

MR. BANDSTRA:  Sure.  The work here was done under the schedule that you pointed out, schedule B, which is ad hoc engineering services.  And this project started in late February 2024, with a request to discuss a concept that Enbridge had for a probabilistic model.

And so we met, as we do, on ad hoc engineering services, to talk about what they would like to do.  And so, in that meeting, they provided direction on the request, which is summarized in the slides which would be, I am sure you aware, but exhibit B, tab 3, schedule 1, attachment 1.  It gives a summary of the direction.

And, from that point forward, we met on an as-needed basis to collaboratively developed the model, and which ultimately resulted in the slides that you see in this evidence dated May 2024.

MR. BROPHY:  Okay.  And were there drafts or other written feedback provided to you?  Or was it all just kind of verbal collaboration, as you mentioned?

MR. BANDSTRA:  Drafts, of what?

MR. BROPHY:  Of the modelling results or draft reports like the one that was filed in final, in the application.

MR. BANDSTRA:  And you said provided to me, by...?

MR. BROPHY:  Yeah.  Did you provide drafts to Enbridge?

MR. BANDSTRA:  Did I provide?

MR. BROPHY:  And then --


MR. BANDSTRA:  No.  The results that were provided as the filing are the final results for this analysis.

MR. BROPHY:  Okay.  So it sounds like it was verbal discussions; it is not you sent them a draft, they sent you comments back, you sent another draft.  It was all just verbal, to get to the final product that is filed, I think.  Is that accurate?

MR. BANDSTRA:  Yeah.  We met during the course of the project to discuss the status and developments of the model.  And I was asked to provide and put together a summary of all the results, all the inputs, assumptions and the results.  And you see that here.

MR. BROPHY:  Okay.  No, thank you for that.

So you talk about probabilistic analysis and, you know, I was actually more interested in your attachment 1 proposal, which is more of a hardcore engineering proposal, but it is not related to the probability that you did, related to asset life.

So is it normal for Integral to do other, more traditional engineering work like was in attachment 1?  Or is it also common for you to do Monte Carlo analysis related to things like future probability of retaining gas service connections?

It just seemed like a bit of an oddball for your firm, and probably is, given that it fit under the ad hoc schedule.

MR. BANDSTRA:  The use of ad hoc arrangements to conduct model development is normal and common for us.  So there is nothing unusual about that arrangement in terms of contractual or project style.

The second part related to is it common for us to develop probabilistic models to model engineering phenomena that is of interest to energy companies, gas companies?  That is very common.  We have published extensively at conferences on probabilistic model development.  I teach an industry course on probabilistic model development and implementation.  So, again, this is well within what we typically look at.

MR. BROPHY:  Okay.  And I know Enbridge on day 1 and 2 had confirmed that they gave you the data and assumptions, and took us to that; I think it is in their filing, the list that they provided to you.  So I won't take you back there.

But when you talk probabilistic modelling, it is really just applying the assumptions and data that Enbridge provided, using Monte Carlo analysis.  Right?  There is nothing more involved than that, is there?  Or, if there is, maybe you can explain?

MR. BANDSTRA:  Yeah.  I would say that that characterization is not correct.  The development of a probabilistic model which does include assumptions of -- or data to define inputs, is one key piece.

Another piece is what types of distributions, which shapes you use to represent the phenomena that are being modelled, the equations you use.  The other aspects are the actual implementation of that, to calculate the answer.  That has to be done using some kind of programming or implementation.

And then executing and running specific cases and then generating visualizations to understand the results and summarize them are all pieces of conducting an assessment using a probabilistic model that require expertise and knowhow in order to do that efficiently and accurately.

MR. BROPHY:  Yes.  I think what I am hearing is that some of the choices you make when running Monte Carlo analysis, you know, those are choices made by you.  And then, when you get the outputs, how you display them, you know, is they could have been displayed differently, you know, if run by somebody different.  Is that what I am picking up?

MR. BANDSTRA:  I disagree with the idea that the results would be different if run by someone else.  If they used the same model with the same inputs, they would get the same answer.

What I am referring to is the efficiency of someone with expertise in doing this in a timely fashion and creating plots that are useful and displayed well in a way that is easy to understand for decision makers.  That is what I am referring to.

MR. BROPHY:  Okay.  Thank you.  And you don't need to be an engineer to run a Monte Carlo analysis, do you?  In fact, I think anybody could do it if they knew how.  Right?

MR. BANDSTRA:  If someone knows how to run a Monte Carlo analysis, then yes, they could run a Monte Carlo analysis.

MR. BROPHY:  Okay.  So it was really -- well, I am not going to ask you that question, because it is asking you to speak on behalf of Enbridge.  So I will skip that one.  Okay.

So I just want to get into some of the information that went into the modelling.  And it included a bunch of information, one being the amount of service disconnections.  Correct?

MR. BANDSTRA:  I believe it would be helpful to pull up slide 18 from exhibit B, tab 3, schedule 1, attachment 1.  I believe that is what you are referring to.

MR. BROPHY:  Sure.

MR. BANDSTRA:  Is this right?

MR. BROPHY:  This is one; we can talk to this slide, if you want.  So it is the initial probability of disconnections.

So then that would have been based on inputs -- actually, this is a great slide to talk to.  So you were given certain information on page 18 of 27, B3.1, attachment 1, and it was HER+ program data from January 2023 to March 2024.  Right?

And then you matched that to the disconnections related to participants in the HER+ program over that time frame that put in air-source heat pumps.  Is that accurate?

MR. WOOD:  Enbridge Gas, Cody Wood.  Yes, that is accurate.  We looked at the customers who elected to install heat pumps and which of those customers remained on the system or which of those customers had not remained on the system at the time the information was pulled.

MR. BROPHY:  Okay, no.  Thank you.  I just wanted to make sure I got it straight, and I didn't know the line between Integral and Enbridge.  Because I know Enbridge gave you the data and pulled it from their systems and gave you the assumption, so there are points where Integral kind of didn't know background behind the data, just kind of stopped me, but that was helpful.  Thank you.

Maybe, Mr. Bandstra, can you explain the difference between a customer who is disconnected, so the data they gave you of those customers who were disconnected, versus a customer who only cancels their account but does not request that their service be cut off or disconnected?

Do you know the difference between those two things?

MR. BANDSTRA:  I am familiar with the concept of what you referring to, but that wasn't something we looked at, distinguishing those two aspects in this model.

MR. BROPHY:  Okay.  The point of the question is that you included in your modelling customers in that sample where they had a service disconnection, but I don't think you included customers who cancelled their account but did not have a disconnection.  Is that accurate?

MR. WOOD:  Excuse me, Mr. Brophy.  It is Mr. Wood.  I just wanted to interject.  I think, if you give us a moment, I think there is an IR response where this question was posed.

MR. BROPHY:  Sure.

MR. WOOD:  If you give us a moment, I think we would be able to find it to help answer your question.

MR. BROPHY:  Super.  Thank you.

MR. WOOD:  Enbridge Gas, Cody Wood.  I think, if we turn to Exhibit I.2-Pollution Probe-46, we may be able to help answer Mr. Brophy's question.

So, Mr. Brophy, please correct me if I am mistaken, but what I heard your question as was really a different take on question A that is presented here, on the screen, talking about disconnections versus gas usage, where, if I am inferring correctly from what you are saying about a customer who suspends their service, they would have potentially no usage, whereas this question is asking about that distinction.  So am I correct in interpreting what you are asking?

MR. BROPHY:  It is a parallel theme, but it is a different question, and it deals with the same kind of terminology, so I can appreciate why you went here.

I guess to make the question short, it is just ensuring that I understand it correctly, that the modelling Integral did only included the disconnections and not any numbers where customers just cancelled their accounts but didn't disconnect.  Is that accurate, or did you include in the data run by Integral customers who discontinued their accounts but did not disconnect?

MR. WOOD:  So, Mr. Brophy, thank you for clarifying that.  I think, if we look in the actual response to part A, we look at -- sorry, just another.  Using customer disconnections simplified our analysis, so we are using "disconnections" to mean a customer who disconnects from the gas system, no longer uses gas or is a customer, which I think is the root of what you are trying to get at.

So "disconnections" in the context of what we have described here means they are no longer a customer of the gas system.  Whether or not they have a gas line to their home and a metre attached to the house isn't a consideration because we are looking at it from:  Are they still a customer for the gas system?

Does that help answer your question?

MR. BROPHY:  A little bit, but so you are using "disconnections" as a proxy for people who are no longer a customer, which, if you disconnect, you are obviously not a customer.

MR. WOOD:  Correct.

MR. BROPHY:  You wouldn't have a meter.  You don't have a service.  That is all gone.

If you cancel your account but there is no cut-off or disconnection, then typically the meter would be taken off because it is not being used, it is not in active service, but the service is still there.  So those, if customers have done that, those wouldn't be in the numbers that were run then by Integral.  Right?

I just want to make sure we are understanding the same thing.  Like, if we were to ask you to go and rerun the analysis with also all the customers who cancelled or suspended their accounts but didn't have a disconnect, that could give you a different response because the number would be higher than just using the disconnects.

MR. BANDSTRA:  I would just like to point out that we do have a case which is a 100 percent probability of disconnections, so, at that point, anybody who adopts a heat pump is no longer considered a customer.  So I think it is possible to formulate different metrics that may lay cases that lie between our outer boundaries, but, ultimately, we do have an upper bound case here of 100 percent that could be used as a reference to understand the bounds in which other cases you might come up with could -- would fall.

MR. BROPHY:  And I appreciate that because, if you assume 100 percent disconnect, that would include all customers who cancelled or suspend their account, as well, because you are just assuming they all disconnect.  So I appreciate that.

The --


MR. WOOD:  Mr. Brophy?

MR. BROPHY:  Sorry.

MR. WOOD:  Sorry, sorry.  I just wanted to again come back.  I think maybe it is the term that is being used where there is a bit of a hang-up here.

MR. BROPHY:  Mm-hmm.

MR. WOOD:  "Disconnections" refers to anybody who is a customer now but then is no longer a customer as a result of their decision.  So whether or not they suspended their account or physically had their meter disconnected from their house, those are one and the same in the context of this analysis, so they are no longer a customer.  And that is really what it means, so I think that is fairly clear and I believe answers your question.

MR. BROPHY:  Okay, but if it's -- you know, we have had customers in the City of Ottawa reach out and ask what they should do because, prior to 2024, there was a charge to have a disconnect but there was no charge just to suspend your account or cancel your account.  So, typically, the answer would be:  Well, why would you pay money to disconnect if you don't need to?  Just suspend or cancel your account.

And it sounds like, those people, you didn't pull those numbers; you only pulled the disconnections numbers as per this response in part A.

MR. WOOD:  So, Mr. Brophy, the word -- I think, again, we are just getting hung up on the word choice here.

What was done we look at the HER+ data, if you go back to what we rooted this in is we assess the account status -- so are they a customer, yes or no -- and, if they are not a customer, we count that as disconnect.  So, whether or not they have physically had their meter removed, as the word "disconnect" literally implies, or as we have described it here they no longer use gas or are a customer --


MR. BROPHY:  Okay.

MR. WOOD:  -- right?  So that is more general and broader in that it takes into account, I think, what you are getting at.

MR. BROPHY:  So could you maybe, just to clarify this, can you undertake just to provide the definition of what "disconnection" means, in relation to the data that you provided Integral in the analysis?  I --


MR. WOOD:  Mr. Brophy.  I think that we just described that to you quite clearly.  Disconnection encompasses when there is no longer a customer, so whether that customer has had their meter removed or whether that customer has simply suspended their account, that is considered disconnection for the purposes of this analysis.

MR. BROPHY:  Okay.  And if a customer discontinues their account or suspends it, I guess that is the same thing, you would then take the meter off and leave the service; right?  Is that the typical approach?


MS. MURPHY:  Jennifer Murphy.  I don't think either Mr. Wood or I are familiar.  I don't think we could answer that.

MR. BROPHY:  Okay.  Well, maybe I will get to the real question which follows from that.  Is -- if somebody cancels or suspends their account, but doesn't request a disconnect, and the service to their home or business has not been fully depreciated, so it is still in your capital asset rate base, do you write that off or is it still in rate base?

MR. STERNBERG:  Mr. Brophy, I am interjecting because I really don't see the relevance of that question to this application.  Certainly not to the scope of today's TC session.  I think it doesn't sound like it has anything to do with clarifying the work that Integral did.

MR. BROPHY:  Yes, I can explain the relevance if you wish, and then the panel can answer, right, if not, they can take it away.  So, you explain the terminology disconnect in relation to the analysis Integral did.  That was helpful, thank you.  And the purpose of -- or one of the outcomes of showing the analysis is that if you retaining customers on the system then those are customers that are part of the Enbridge system.  So, the pipeline will be serving those customers, and typically you need to have a service in order to get served by Enbridge.

And so, therefore, the only accounting that you can do to say then that you are a customer with a potential to be served off the pipeline is if you have -- if you are counted as a customer from a rate base perspective.  So, your service is still considered active and the service can be active even if there is no meter.  Because, you know, the service -- the next person could move in and put a meter on and use that service.
So, the question is:  If a customer suspends or removes their account are you removing the capital related to that service, or does it still remain?  Because it sounded like from the answer that was provided it all comes out.  You treat everything the same.  Whether you cut off the service, which it is then physically gone, of course, that comes out of rate base.  That is logical.  But if it is just the meter coming off because the service was cancelled or suspended, it is unclear to me if it is treated the same way.

MR. STERNBERG:  Mr. Brophy, I don't think it's a question that this panel would be able to answer, or that would be within the scope of today's session.  I mean, if you have got additional questions that are -- I think they answered your question about how -- what information was used for the analysis, how the analysis that Integral did was carried out.  If you have got clarification questions on that, by all means.  But the question you have just asked now, I don't think is one for this panel.

MR. BROPHY:  So, is that something that you can take away and answer?  It should be a simple answer.  It is, in my mind, it is that is how you would then apply the Integral result and that is an underlying assumption.

MR. STERNBERG:  I am not sure I follow the relevance of it, but to move things along for right now we will consider the request, and if we are prepared to answer it and accept that it is relevant, we will.  And if not, we will advise you of Enbridge Gas' position on it.

MR. BROPHY:  Okay, perfect.

MR. MURRAY:  That will be undertaking 3.7.  And, Mr. Brophy, I just wanted to get a sense of time check, because I think you were put down for 15 minutes.  And I think we are quickly approaching 35 minutes.
UNDERTAKING JT-3.7:  TO DESCRIBE THE TREATMENT OF THE CAPITAL WHEN A CUSTOMER SUSPENDS OR REMOVES THEIR ACCOUNT; IS IT REMOVED OR DOES IT REMAIN?

MR. BROPHY:  I will make your life easy.  That was the last question.  So, thank you very much.

MR. MURRAY:  Thank you.

MR. BROPHY:  Thank you, Mr. Bandstra and Mr. Shipley.

MR. MURRAY:  Mr. Rubenstein, do you have a sense of how long you will be?  Is it still just 15 minutes?

MR. RUBENSTEIN:  No, it will be less than that, significantly less than that.  I just have a couple questions.  Maybe 10 minutes.

MR. MURRAY:  Can the court reporter hang in for 10 more minutes?  Okay.  Let's get through this.  Mr. Rubenstein, over to you.
Examination by Mr. Rubenstein


MR. RUBENSTEIN:  Thank you, panel.  Can I ask if we can we turn 1.2-Pollution Probe-46.  And in part B you were asked to provide a demand forecast by year from current to 2015 for the sector and assumptions outlined above, please provide the results you can see the response, but you can see the question.

If you go to the response, your response, essentially, says that the Monte Carlo analysis was done for residential space heating -- sorry, you provide a response that talks about how the analysis was based on customer connections, not demand.  And it would take months to do an analysis based on demand; do you see that?  That is the gist of the response?

MR. WOOD:  Enbridge Gas, Cody Wood.  Yes, it would take considerable time to incorporate assumptions related to demand to reflect what a customers-remaining demand would be, as they adjust their space heating equipment or other equipment within the model.

MR. RUBENSTEIN:  Does Enbridge have a demand forecast at the customer level, understanding what customer demand is going to look like in the future, say, you know, 2035?  Anywhere out from circa 2035 onwards?  Has it done any analysis?

MR. WOOD:  Enbridge Gas, Cody Wood.  Can you be a little bit more specific, Mr. Rubenstein?  Do you mean with respect to the SLP project and the project area, or you talking more broadly?  Can you dial that in for me?

MR. RUBENSTEIN:  Well, I mean.  SLP for sure, but I am just talking about -- but I am also interested more broadly.  Has the company done any analysis that has looked at customer demand and how that is expected -- I should say peak demand, and how that is expected to change?

MR. WOOD:  Just give me a moment to confer with my panelist here.

MS. MURPHY:  Jennifer Murphy.  Mr. Rubenstein, can you clarify:  Are you asking about annual demand or average use or peak hour?

MR. RUBENSTEIN:  Well, let's say peak hour.  Let's talk on a peak hour -- I mean, just to back up for a second.  Just so you understand what I am getting at.  I mean, the analysis that you asked Integral to do is really about customer disconnections only.  But there is another scenario that could be play out in  the future and that the remaining customers on the system, their peak demand, their individual peak demand, either calculated on an hourly basis or on daily basis decreases; right?  And I am trying to understand what analysis in that regard the company may have made -- may be doing.  It may be specific to this pipeline or the Ottawa area, or just more broadly within its system.

MS. MURPHY:  Jennifer Murphy.  So, in the rebasing application, we did outline some evidence on how we do our forecasting process, including how we look at energy transition and how we layer assumptions related to energy transition into our forecast.  And that would be our average use, it would be our peak hour, peak day, our number of customers.

There is an undertaking where we are filing, pointing direction to where that is in the rebasing application.  But that is well documented, system wide, how we do that forecasting.

MR. RUBENSTEIN:  And my recollection, and it is hazy from last year's rebasing application, but that was with respect to the load forecast for that application, and that would be a load forecast for the period.

But I am just talking about, if the company looked in the longer term, how the expectation about new technologies will -- and customer behaviours will impact customers who remain on your system, how their demands may change.


MS. MURPHY:  Mr. Rubenstein, I just need a moment to confer with my panelist.

MR. RUBENSTEIN:  Sure.  And if you want to take an undertaking to point to that or provide that information, that is fine.  I mean, that would also equally be okay with me.

MS. MURPHY:  Yes, thank you.  I think on a regular basis we forecast out our normal process for forecasting, and I am just speaking from my understanding because I am not the person who does all of the hard work on developing our company forecast.

But we look out a period of time, say it is 10 years or 20 years; I can't think off the top of my head how far out we go.  If you are asking the longer term, have we looked at that, that is not part of our routine forecasting process.

In rebasing, we did do a project called energy transition scenario analysis, where we did look at what could happen theoretically, over time.  And that does look at average use, the number of customers that we might see changing over time, the peak hour.

So we have done that type of work, and that that is in the rebasing application, as well.

MR. RUBENSTEIN:  But I take it with respect then, so first of all, I take it then there is nothing more than what you have provided in the rebasing application?

MS. MURPHY:  I would agree.  We have what is in the rebasing application.  And then specific to the St. Laurent proceeding, you have our evidence and the probabilistic analysis that Integral did for us.  And there is no other analysis that I could provide.

MR. RUBENSTEIN:  And so you haven't done any probabilistic analysis regarding changes in demand of the customers who do not disconnect.  You have done none of that analysis?  There is no probabilistic analysis that you have done?

MS. MURPHY:  I would agree with that.

MR. RUBENSTEIN:  Okay.  Thank you, very much.

I have one other question with you, and you may have to take this by way of undertaking, because it relates to the asset management plan that was filed last week.

Last week, Enbridge filed its 2025 to 2034 asset management plan under the docket 2020-0091.  And in appendix A, it includes information for investments greater than $10 million,  And at page 2 of that appendix, it provides the information for the St. Laurent pipeline replacement project.

And the information shows that the total capex of the project is about $159.97 million, excluding overheads.

Can I ask by undertaking, Enbridge, to reconcile that information with the costs that you are providing in this application with respect to the cost, because they do not seem -- whichever way I dice the numbers that are provided in this application, it does not match those that you provided in the AMP.

I am wondering if you could do that, by way of undertaking?

MR. STERNBERG:  Mr. Rubenstein, it doesn't sound like this has anything to do with clarifying the work that Posterity or Integral did, which is the scope of today's TC.

Having said that, we will consider the request and, if Enbridge is prepared to provide the response, it will.  And if not, we will advise.

MR. RUBENSTEIN:  Well, I agree with you it does not.  The only reason I raise this is that was only filed last week.  But I take your comment.

And just the second part of that is that, starting at page 340 of that, page 340 of the PDF of the AMP, there is a table that shows, by investment code, a number of information, including in-service date as well as the costs.

And if you add up all of the investment codes, and there are seven of them that relate to the St. Laurent project, I get $172.2 million, excluding overheads, which doesn't match what is in the project summary in appendix A of that AMP, and then also obviously doesn't match what is in the application.

So I was wondering if you could reconcile those numbers, or these more updated numbers, or -- if you can do that?

MR. STERNBERG:  We will consider that part of the request you made, and we will take that back and consider it.  And if we are prepared to and able to provide a response, we will.  And, if not, we will advise as to why.

MR. MURRAY:  Yes, we will make it an undertaking, JT-3.8.
UNDERTAKING JT-3.8:  ENBRIDGE TO RECONCILE COSTS INFORMATION PROVIDED IN THIS CURRENT APPLICATION WITH THOSE PROVIDED IN THE AMP

MR. RUBENSTEIN:  Thank you very much, panel.  Those are my questions.

MR. MURRAY:  Thank you, very much, Mr. Rubenstein.  And, with that, we are at the end of the witness -- sorry, the questioners for the witnesses.  So I thank the witnesses, and then --


MR. LADANYI:  Just a second, Mr. Murray.  Can I ask a follow-up question  of something that was discussed?  I have one little question.  Can I?

MR. MURRAY:  Yes, you may, Mr. Ladanyi.
Examination by Mr. Ladanyi


MR. LADANYI:  Tom Ladanyi, for Energy Probe.  And this is actually relevant to what was just discussed.

So, in your analysis, did the consultants in any way take into consideration demographics of the customers?  And what I mean is that somebody who is, let's say, 75 years old, like me, might not have a revenue horizon whereby I could recover the cost of a heat pump if I am just going to live, let's say, till 80 or so.  So demographics is important.

And, in any way, have you have considered demographics of the customer population in Ottawa?  I believe there is a lot of old people living in Ottawa.  And even though it might be a lot cheaper to install a heat pump, they say, "Well, why should I invest in a heat pump?  I may not be living that long."

MR. WOOD:  Enbridge, Cody Wood.  No, we did not consider that.  But in the context of the range of scenarios, it would fall within the bounds of the scenarios that we have put forward.

MR. LADANYI:  All right.  Thank you.

MR. MURRAY:  Thank you, Mr. Ladanyi.  And I believe, with that, we are now at the end of today's technical conference.  I would like to thank everyone for participating.

And just a reminder to Enbridge, in accordance with Procedural Order No. 4, I believe the undertakings arising from today are due by November 27.

And, with that, the technical conference will come to a close.
--- Whereupon the proceeding concluded at 3:34 p.m.
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